
/DWRB����

3UDFRZQLN�5R]NãDG���GU�%DQDVLDN�$QQD��7\J������

3
Q

�������������7\J��������
��

:DUV]WDW�XPLHMĊWQRĞFL
Z\FKRZDZF]\FK��ODE�� GU
%DQDVLDN�$QQD� ���3�0�
���32=5�/�

=DMĊFLD�Z�IRUPLH�]GDOQHM�

�������������7\J������

:DUV]WDW�NRPXQLNDFML�LQWHUSHUVRQDOQHM�
GU�%DQDVLDN�$QQD� ���363�'����:

]DMĊFLD�Z�IRUPLH�]GDOQHM

�������������7\J��������
��

3HGDJRJLND�VSHFMDOQD
�Z�� GU�%DQDVLDN�$QQD� �
��36�/����&�

=DMĊFLD�Z�IRUPLH�]GDOQHM�

Z
WR

UH
N

�������������7\J�����

6HPLQDULXP�G\SORPRZH�
GU�%DQDVLDN�$QQD��GU
àDSRW�0LURVáDZ��GU
àXNDVLN�%HDWD� ���3�/�
���32=5�:

=DMĊFLD�Z�IRUPLH�]GDOQHM�

�������������7\J�����

5HZDOLGDFMD�LQG\ZLGXDOQD�üZ�� GU
%DQDVLDN�$QQD� ���3�/����32=5�&�

=DMĊFLD�Z�IRUPLH�]GDOQHM�

ĤU
RG

D

�������������7\J�������������

:DUV]WDW�NRPXQLNDFML�LQWHUSHUVRQDOQHM�
GU�%DQDVLDN�$QQD� :����� ���363�'�
���:

]DMĊFLD�Z�V\VWHPLH�]GDOQ\PF]
Z

DU
WH

N
3

W

�������������7\J������������

6HPLQDULXP�G\SORPRZH� GU�%DQDVLDN
$QQD��SURI�QDG]Z��.XNOD�'DQLHO� ���3�
5����32=5�:

=DMĊFLD�Z�IRUPLH�]GDOQHM�

�������������7\J������������

3HGDJRJLND�VSHFMDOQD��Z�� GU
%DQDVLDN�$QQD� ���36�5����:

=DMĊFLD�]GDOQH�VR
ER

WD

�������������7\J������������

5HZDOLGDFMD�LQG\ZLGXDOQD�üZ�� GU
%DQDVLDN�$QQD� ���3�5����32=5�&�

=DMĊFLD�Z�IRUPLH�]GDOQHM�

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


